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Math 173 - Quiz 4 Name

February 24, 2011 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Find a point of intersection of the graphs of the following vector-valued

' functions. | o
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Then find the angle between the tangent vectors at that point. 3
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2. (3 points) Find the principal unit normal vector at ¢ = 0.
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3. (2 points) Suppose 7(t) = acosti+ asintj+ bk, where a and b are positive numbers.
Find a formula for the arc length of the graph over the interval [0, 27]. —
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4. (2 points) Find the curvature of the graph of y = 2z + — at the point where = = 1.
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